
 

Sol Let p K be the train stops at the Kthstation

Since the train stops at the first station PCI is true and
the trainstops at astationand it stops at the next aswell

PCR P KID
Then by the rate of influence we have

PII PC2 P

r
whichmeans that the train willstops at all the

stations

PID is 12 t.CHD.FI

The lefthandside of PCD is 12 and

the righthandsideof PCD is t.CITD.FI 12f I
so PCI is true



c PCM is 2 34111the NNtD and weassume

it is true

d Weneed to prove Pch implies PentD

e The left hand side of P Ntl is

by.EEffhttcnt
nenf cnts

IND ntl

Ntl LED HERMIT
NT 2 11 A Mts

f By as is true and

P n Ponti for all positiveintegers n then

pcn is true for all positiveintegers n



Prof Let P h be 1437571114 anti Edge
p o is 12 01 0 131

13
and wehave

0 1120 1031 113 and it implies Pso is true

Assume

P.FI FTIp KtDaktDE is true

To showPCK PCKt1 wehave

the lefthand side of PCKI is

By

45 age

243 1 1 3

2kt f 1 1 1243 kk9
2kt 21495 12113131245

4124331245
141 1712441 1732415131

By induction basedon0,0 p n is true for all new

Proof Let Pcn be 3 35 357111T 351 315T
P o is 3 315T and we have

3 5 1 3 3 and Pcos is true



AssumePCK is true

3 35 111 351315ft is true

To show PCK P KT we have
The left hand side of P K1

EÉ 35
13 5

315k 3.5kt

3315
12

335141

3 44,5 1 3151

By induction basedon0,0 p n is true for all new

a 2 4 6 till tan 2 IT2T th 2 n.tn
n ncnti

b Prove 2 4 6 tintan nonti is true for all n e zt

Proof Let Pch be 2 4 6 tint 2h nonti

PCD is 2 1 Itt and wehave 1 H1 1.2 2

Thus PT is true

AssumePck is true

2 4 6 till tak Kati is true

To show PCK PCK 1 we have

the left hand side ofPLKI is

24 15421
242 kcal take

K tkT2KT2
143142



Ktl K2 K1 KT XD

By induction basedon0,0 p n is true for all not

check Exam Question 5

LetPch be 1.2 2 3 Mth Ntl Mentzel
To show PCD is true we have PCD 1.2 t.CTD.IT
and the lefthandside PCI is 1 2 2 and

therighthand sidePLD is 1113112 123 2

PCD is true
Assume PCK is true

1.2 23 in k ch is true

To showP K PCKTD we have

the lefthand sideof PLKI is
114174423 1484 cake

KT K2 I 1

K1 K2



CKTICKBEIL
By induction basedon0,0 p n is true for all not

Prof let Pcn be n 2 n 4 so n 5 to beginwith

To show P 5 is true P 5 is 25 52
Therighthandsideof P 5 25 32

The left handsideof P 5 52 25
32 25 and
P 5 is true

Assumep k is true

k 2k is true for k 74

To show P K PCKI wehave

the left handsideof P K is 2kt 22k

K 1 kt 2kt 2kt
for k

2k 2k


